YOKDIL FEN BiLIMLERI iLKBAHAR 2018 SORULARI

1-20. sorularda, ciimlede bos birakilan
yerlere uygun diisen sozciik ya da ifadeyi
bulunuz.

1. People consider soil ---- because it supports
plants that supply food, fibre, drugs, and
other human needs.

A) various
B) simple
C) essential
D) thick

E) missing

2. The adult brain can grow new brain cells or
re-organize itself in response to new
experiences,which is a biological ---- called
neuroplasticity.

A) refusal
B) prediction
C) outbreak
D) process

E) lecture

3. Botany as a pure science began in the fourth
century BC with the Greek philosopher
Theophrastus, who ---- influenced the
discipline until the seventeenth century.

A) fluently
B) heavily
C) angrily
D) shortly
E) loudly

. ----water accounts for more than 90 per cent

of protoplasm weight, this rate can be as low
as 10 per centin seeds.

A) Although
B) Unless
C) Similarly
D) As if

E) Provided

. The northern white rhino will soon face total

extinction ---- something is done to prevent
this tragic outcome.

A) aslongas
B) assoonas
C) unless
D) onlyif

E) because

People and animals ---- to find new sources of
food when old ones ---- unavailable or they
have to move to new areas.

A) usedto learn/have become
B) wouldlearn/willbecome
C) mustlearn/were becoming
D) mightlearn/had become

E) have to learn/become

Each year, air currents blow two million tons
of bacteriainto the atmosphere ---- 55 million
tons of fungal spores.

A) in case of
B) in orderto
C) in contrast
D) aswellas

E) asthough
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8.

10.

11.

Today, geophysicists ---- more detailed
reports about why earthquakes happen more
frequently in some places than others.

A) would produce
B) will be produced
C) are producing
D) had produced

E) are produced

. When it comes to the environment, modern

societies are not ---- different from primitive
societies ---- one might assume.

A) too/to
B) many/than
C) much/more
D) as/as

E) so/that

Researchers ---- are based at the University of
Tokyo have discovered that larger
earthquakes are more likely to occur when the
moon is nearly full or new.

A) who
B) whose
C) inwhich
D) what

E) where

----the increasing number of protected areas
in recentdecades, the rate of extinction in
species has not dropped.

A) Thanks to
B) Before
C) Unless
D) Now that
E) Despite

12.

13.

14.

15.

China has seenadecreasein rural child
labour ---- the one-child policy and rapid
urbanisation.

A) however
B) dueto
C) if

D) in case

E) although

Chemistry seeks to explain ---- the structures
of atoms ---- how these structures are
transformedin chemical reactions.

A) rather/than
B) neither/ or
C) but/ also
D) both/and

E) such/that

Newton deduced the threelaws of motion ----
various experiments performed ---- other
scientists, especially Galileo Galilei.

A) for/on
B) by/in
C) from/ by
D) with/to

E) into/at

The global human population ---- dramatic
growth at least twice throughout history, the
first of which ---- around 10,000 years ago.

A) experiences / will take place

B) will experience / was taking place
C) had experienced/ takes place

D) was experiencing/ had taken place

E) has experienced/took place
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16.Since NASA ---- using the Space Shuttle in
2011,the Soyuz spacecraft ---- the only way
for astronauts to reachthe International
Space Station.

A) willstop/ was

B) was stopping/is
C) stops/willbe

D) stopped/has been

E) maystop/ usedtobe

17.Researchers from a number of EU member
states have joined forces to ---- the effects of
underwater noise generated by shipping.

A) investigate
B) supply

C) prepare
D) complain

E) attend

18. Faster recharging lithium batteries were
developed when scientists ---- that adding
charged metal atoms to tunnel structures
improves their performance.

A) turned down
B) foundout
C) ledto

D) took off

E) gave up

19.

20.

Noise pollution from survey ships is a big
threat for dolphins ---- they are considered
one of the most acoustically sensitive animals
on Earth.

A) sothat
B) whereas
C) such

D) justas

E) since

----working on superconductivity, physicist
John Bardeen was already well on the way to
his first Nobel Prize in physics.

A) After
B) Later
C) Then
D) While

E) Following
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21 - 25. sorularda, asagidaki parcada
numaralanmis yerlere uygun diisen sozciik ya
da ifadeyi bulunuz.

‘Spam’ is the term used to describe unsolicited e-mail
messages automatically(21) ---- to millions of
recipients. These messages are advertisements
aboutdebt consolidation offers, get-rich-quick
schemes, and stock markettips. The underlying
principle is (22) ---- if you e-mail enough people,
some are likelyto be interested in or taken in by your
offer. It is (23) ---- that over 90 billion spam
messagesare senteach day. There are various
techniques for preventing spam, (24) ---- the most
effective is spam filters. These are computer
programs thatautomaticallyscan incoming e-mail
messages and decide which are likelyto be spam.
The filters can be set up (25) ---- the program deletes
the spam messages automatically, sends them toa
holding folder for later examination, or takes some
other appropriate action.

21.
A) sentout
B) sendingout
C) had sentout
D) having sentout

E) was sentout

22.
A) that
B) when
C) which
D) what

E) where

23.
A) combined
B) declined
C) estimated
D) terminated

E) discharged

24,
A) in contrast
B) but
C) moreover
D) otherwise

E) therefore

25.
A) given that
B) however
C) asthough
D) sothat

E) on the otherhand
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26 - 30. sorularda, asagidaki parcada
numaralanmis yerlere uygun diisen sozciik ya
da ifadeyi bulunuz.

Did the ancestors of modern birds survive (26) ----
they ate seeds? 66 million years ago an asteroid
struck Earth and wiped outan estimated 75 per cent
of life. It is an event that infamously (27) ---- the
extinction of the dinosaur. One may wonder: how did
the ancestors of modern-daybirds survive when all
their relatives perished? Astudy which (28) ---- in
CurrentBiologyin 2017 hypothesizes that some
birdlike dinosaurs survived because they had
toothless beaks, and could feed on fire-resistant
seeds when the food sources of mostother species
(29) ----. For this study, Derek Larson analyzed more
than 3,000 fossilized teeth from birdlike dinosaurs
that lived in western North America (30) ---- the
Cretaceous period.

26.
A) orelse
B) but
C) unless
D) whereas

E) because

27.
A) appeared
B) caused
C) defeated
D) shared

E) called

28.
A) published
B) has published
C) maybe published
D) had published

E) was published

29.
A) ignored
B) served
C) disappeared
D) declared
E) offered

30.
A) during
B) on
C) off
D) between

E) among
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31 - 41. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

31.Modern estimates suggest that 85 per cent of
the universe’s mass is invisible to even the
most powerful telescopes ----.

A) butevidence about the fate of ourgalaxy is
limited

B) andis only detectable through the influence of
its gravity

C) sothatit simplydoes notinteractwith light

D) where several decades ofexperiments have
proved ineffective

E) followingthe deduction that several objects
have beenused

32.Although we do not typically think of bacteria
as being capable of sight, ----.

A) antibiotics can kill the good bacteria in the
body along with the bad

B) humans have been wondering aboutthe
answer to these questions for centuries

C) suchdetailed studies aim to pay special
attentionto the species crisis

D) they started to believe that perhaps the
signals were notrandom

E) they have light-responsive proteins thatare
similarto our own visual system

33.The dominance of fossil fuels will remain

unchallenged for at least the next four
decades, ----.

A) aswellas alarge number of countries
dependenton renewable energysources

B) therefore, green policies will playan important
role in our immediate energyneeds

C) thus,the amountof European power supplied
by renewables is more than that of fossil fuels

D) even if countries pursue environmental or
energy policies enforced byinternational
agreements

E) nowthat renewable sources are urgently
needed for sustainable development

34.While flowing water has not been directly

observed on Mars, ----.

A) there are signs thatit has potentially made
some briefappearances on the surface

B) water is not found on the surface or within
rocks and soilin any of its forms

C) the scientists who travelled to this continent
concluded thatit has large reservoirs of water

D) continued monitoring shows thatsuch activity
may be due to chemical processes

E) the initial reportfrom Mariner 4 stated that
these planets never had Earth-like oceans
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35.----, mercurylevels in the oceans have

increased at an alarming rate since the
Industrial Revolution.

A) As tunais a kind of long-lived predatorin the
oceans

B) In agreementwith global efforts to protect the
ecosystem

C) Dueto mining and the burning of fossil fuels
D) Even after heavy fishingin the Pacific Ocean

E) Despite the amountof mercuryin fish and
mammals

36.Scientists have finally established the identity

of a missing element within the Earth’s core,

A) who could help us to better understand how
they formed

B) that strongly argues thatthe Earth orbits the
sun

C) butthe core firstseparated from the rocky
parts of Earth

D) whose workwas needed to confirm the
presence ofsilicon

E) for whichthey have been searching for many
decades

37.When the brain cells of humans and all other

mammals are starved of oxygen, ----.

A) they run out of sufficientenergy and begin to
dieas aresult

B) biologydeals with humans, animals as well as
plants

C) suchinnovations inthe field of science have
become compulsory

D) oxygen level in brain cells plays a vital partin
humans

E) suchlevels depend onage and gender of the
species

38. ‘Erosion’ is a blanket or general term for a

variety of processes ----.

A) therefore, much of the surface rock on Earth
was caused by erosion

B) butthey played a more importantrole on
Earth than on any other planet

C) if such substancesare usedto build new
communal structures

D) that break down or transportrock through the
action of ice, liquid, orgas

E) even thoughthe carving of canyons by rivers
is an example of erosion
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39.Producing artificial spider silk has long been

a dream of many scientists, ----.

A) aslong as spiders spin small amounts of silk
in labs

B) butitis still too early for them to expect the
dream to come true

C) whereas itis well tolerated whenit is
implanted intissues

D) though such products require plentyof silk for
large scale production

E) because the researchers have a method that
works properly

40.Even the simplest life form on Earth has

countless requirements needed to survive, ----.
A) whenthe Earth was only 700 million years old

B) itis determined by manyenvironmental
factors

C) such as water, organic materials and energy
D) as planets mayhave some sources ofenergy

E) resultingin nature andintelligentlife

41.----, they have the potential to treat many

different kinds of medical conditions.

A) Although experiments have shown thatit is
possible to reprogram an adultskin cell

B) Even if scientists find ways to recreate the
environments in which stem cells grow

C) Though stem cells can be cultured and
induced to develop into different cell types

D) Because notevery stem cellis beneficial in
treating diseasesin animals

E) Since embryonic stem cells cantransmute
into any type of tissue
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42 - 47. sorularda, verilen Ingilizce ciimleye
anlamca en yakin Tiirk¢e ciimleyi bulunuz.

44.Robots are becoming easier to program and
more flexible to use, which enables a single

42.Machine translation systems that convert sign
language into text help people with hearing
difficulties.

43.

A

B)

C)

D)

E)

Duyma zorlugu ¢eken insanlara yardimci
olmasiiginisaretdilinimetne dénustiren
makine geviri sistemleri gelistirildi.

isaretdilini metne déniistiiren makine geviri
sistemleri,duyma zorlugu yasayan insanlara
yardimci olmaktadir.

isaretdilini metne doniistirerek duyma
zorlugu yasayan insanlara yardimciolan
yazilima makine ceviri sistemi denir.

Makine geviri sistemleriisaretdilinimetne
dénustirerek duyma zorlugu geken birgok
insana yardim etmektedir.

Duyma zorlugu yasayan insanlara yardimci
olabilmekigin makine ¢eviri sistemleri metni
isaretdiline dondgturlr.

The International Space Station is a global
project which proves that different states are
able to work together in space exploration.

A

B)

C)

D)

E)

Farkli devietler bir araya gelerek uzay kesfi
alaninda galisabilir, Uluslararasi Uzay
istasyonu bunun eniyi kanitidir.

Farkl devietlerin birlikte caligarak Uluslararasi
Uzay Istasyonu gibi kiiresel bir proje (iretmesi,
uzay caligmalariagisindan dnemli biradimdir.

Uluslararasi Uzay istasyonu, farkl devietlerin
uzay kesfinde beraber ¢calisabildiklerini
kanitlayan kuresel bir projedir.

Uluslararasi Uzay istasyonu, birgok devietin
uzay kesfi konusunda beraber galigmalarini
saglayan kuresel bir projedir.

Uzayin kesfiicin farkli devietlerin bir araya
gelerek Uluslararasi Uzay Istasyonu gibi bir
projeye imza atmasibuyik basaridir.

factory to manufacture many different
products.

A

B)

C)

D)

E)

Giderek daha kolay programlanabilir ve daha
esnek sekilde kullanilabilir robotlarin ortaya
cikmasisayesinde fabrikalar birgok farkli
arundimal edebilir.

Fabrikalarin birgok Griint imal edebilmesinin
arkasinda, giderek daha kolay
programlanabilir ve daha esnek sekilde
kullanilabilirhale gelen robotlar vardir.

Bir fabrikanin birgok farkl Grint imal
edebilmesi, ancak robotlarin daha kolay
programlanabilir ve daha esnek sekilde
kullanilabilirolmasiyla mimkuinddr.

Robotlar giderek daha kolay programlanabilir
ve dahaesnek sekilde kullanilabilir bir hale
gelmekte, bu da tek bir fabrikanin birgok farkli
urind imal etmesine olanak saglamaktadir.

Giderek daha kolay programlanabilir ve daha
esnek sekilde kullanilabilirrobotlarin sayis inin
artmasiyla birlikte, tek bir fabrika birgok farkli
arundimal edebilir hale gelecektir.
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45.The behavioural changes that take place

rapidly during the first twelve years of life
match changes in brain structure that occur
during that time.

A) Yasaminilkon iki yilinda hiz birsekilde
meydana gelen davranissal degisimler, bu
zaman zarfinda beyin yapisinda olusan
degisimlerle uyumludur.

B) Yasamimizinilk on ikiyilinda beynimizde ve
davraniglarimizda meydana gelen hizl
degisimlerbirbirinden ayirt edilemeyecek
kadarbenzerlik gosterirler.

C) Yasamimizinilk on iki yilinda beynimizde ve
davraniglarimizda meydana gelen hizli

degisimlerbirbirleriyie uyumlu sekilde gelisir.

D) Yasaminilkyllarinda meydana gelen
davranigsal degdisimlerile bu slregiginde
beyin yapisinda olusan baz degisimler
arasinda benzerlikler mevcuttur.

E) Yasaminilkon iki yilinda hizli birsekilde
meydana gelen davranissal degisimler, bu
slregte beyin yapisinda olusan degisimlere
blylk olglide uyum gosterir.

46. Today, only billionaires can afford a private
flight into space, but by 2150the cost of such
a flight will probably be no morethan that of a
first class airline ticket.

A

B)

C)

D)

E)

Glnimuzde,uzaya 6zel ugakla gitmeye
yalnizca milyarderlerin giicl yetmesine
ragmen, bdyle bir ugusun maliyetinin 2150’ye
kadar birinci sinif bir ugak biletinden daha
pahaliolmayacagitahmin ediliyor.

Gilnimuzde uzaya 6zel ugus yapmaya
sadece milyarderlerin glicu yetmektedir,
ancak bdyle bir ugusun maliyeti 2150’ye kadar
muhtemelen birinci sinifbir ugak biletinden
dahafazla olmayacaktir.

Glnimuzde, uzaya 6zel ugus
gerceklestirmeye sadece milyarderlerin glicu
yetiyor, amabdyle birugusun maliyetinin
2150 yilinda birinci sinifbir ugak biletinden
ucuz olacagidislinulmektedir.

Uzaya 0zel ugakla gitmek sadece
milyarderlere 6zgi bir ayricaliktir, ancak boyle
bir ugusun maliyeti 2150’ye kadar birinci sinif
bir ugak biletiyle ayni olacaktir.

Gecgmiste uzaya 6zel ugakla gitmeye yalnizca
milyarderlerin glicu yetiyordu, ancak béyle bir
ucusun maliyeti 2150’ye kadar bir ucak bileti

Ucretine denk gelecek sekilde ucuzlayacaktir.

10
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47.Quantum computers might be more powerful
than traditional computers, but some
applications will require more computing
power than one quantum computer can
provide on its own.

A

B)

C)

D)

E)

Kuantum bilgisayarlar, geleneksel
bilgisayarlardan daha gii¢lii olsalar bile, baz
uygulamalarin gerektirdigi islem gucunu tek
baslarina karsgilamalarimimkin gérinmuyor.

Kuantum bilgisayarlar, geleneksel
bilgisayarlardan daha gui¢li olacaklardir,
ancak baz uygulamalarigin gerekliolan iglem
gucunu tek baglarina karsilayamazar.

Kuantum bilgisayarlar, geleneksel
bilgisayarlardan daha gtiglii olabilirler,ancak
baz uygulamalarin birkuantum bilgisayarin
tek basina saglayabileceginden daha fazla
islem gucl gerektirecedi unutulmamalidir.

Modern bilgisayarlar, geleneksel
bilgisayarlara nazaran daha giiglii olabilirler,
amayine de baz uygulamalarigin gerekli
olanislem glciini tekbasina
uretemeyebilirler.

Kuantum bilgisayarlar, geleneksel
bilgisayarlardan daha gti¢lu olabilirler, ancak
baz uygulamalar bir kuantum bilgisayarin tek
basina saglayabilecedinden daha fazlaislem
gucu gerektirecektir.

11
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48 - 53. sorularda, verilen Tiirk¢e ciimleye

anlamca en yakin ingilizce ciimleyi bulunuz.

48.Evrendeki diger temel giiclerle
karsilastirildiginda oldukga zayif olmasina
ragmen, yercekimi evrendeki en devasa
cisimlerin hareketlerinin arkasindaki itici
guctir.

A) Compared tothe otherfundamental forces in
the universe, gravity is weak, yet itis
consideredto be the driving force behind the
motions of manyobjects in the universe.

B) When compared to the othervital forces in the
universe, gravity is the weakest, butitis still
the driving force behind the motions ofthe
mostmassive objects inthe universe.

C) Although itis quite weak compared to the
other fundamental forces in the universe,
gravity is the driving force behind the motions
of the mostmassive objects in the universe.

D) Gravity is the basicdriving force behind the
motions of manymassive objects inthe
universe despite the fact that it is the weakest
force in the universe.

E) Gravity, admittedlyweakerthanthe other
basicforces inthe universe, is the driving
force behind the motions of several massive
objects in the universe.

49. Gozlem verileri birgok galaksinin merkezinde

kara deliklerin bulunabilecegini gosteriyor.

A) Data supported byobservations show that
there are black holes atthe centre of most
galaxies,if not all.

B) Observational data indicate that black holes
may exist at the centre of many galaxies.

C) Data based onrecentobservations suggest
that many galaxies are likely to have black
holes attheir centre.

D) There are mostprobablyblack holes at the
centre of many galaxies as proved by recent
observational data

E) According to observational data, it is quite
evident that there are black holes at the
centre of mostgalaxies, ifnotall.

50. Derhal miidahale edilmedigi takdirde iklim

degisikliginin kiiresel gcapta felaketlere ve
binlerce 6lime neden olabilecegi tahmin
edilmektedir.

A) It is estimated thatclimate change,if not
addressed urgently, may cause disasters and
thousands of deaths globally.

B) It is calculated that climate change will cause
disasters and thousands ofdeaths if itis not
addressedin the near future.

C) Climate change is thoughtto cause major
disasters and thousands of deaths even after
the recent measures.

D) Climate change will likelycause some major
disasters and thousands of deaths globallyif it
is not tackled properly.

E) Climate change,ifnot handled appropriately,
is likely to cause majordisasters and
thousands ofdeaths globally.

12
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51.Diinyanin baska higbir yerinde bulunmayan
sayisiz tiriin evi olarak bilinen tropik yagmur
ormanlari, daha énce hi¢ goérilmemis bir
hizda yok ediliyor.

A) Tropical rainforests are the hometo
numerous species found nowhere else in the
world, but they are being destroyed rapidly.

B) Tropical rainforests, which are the home of
numerous species existing nowhere elsein
the world, are being saved at an
unprecedented rate.

C) As tropical rainforests are being destroyed at
an alarming rate, numerous species found
nowhere else in the world are becoming
extinct at an unprecedented rate.

D) Knownto be the home of numerous species
found nowhere else in the world, tropical
rainforests are destroyed atan
unprecedented rate.

E) Although itis knownto be the home of
numerous species rarelyfoundin the world,
tropical rainforests are destroyed at an
alarmingrate.

52.Bilim insanlari, yetersiz petrol ve gaz
kaynaklarina sahip olan iilkelerin,
yenilenebilir enerjiye ge¢gmesini 6neriyor.

A) Dueto limited oil and gas resourcesinthe
country, scientists stronglyrecommend a shift
to renewable energy.

B) Scientists recommend thatcountries with
insufficientoil and gas resources should shift
to renewable energy.

C) The restricted oil and gas resources inthe
country forced scientists to propose arapid
shiftto renewable energy.

D) Considering how little oil and gas resources
countries have, scientists recommend a shift
to renewable energy.

E) Since the country has limited oil and gas
resources, scientists propose to use more
renewable energy.

53.Bazi tasarimcilar igin iiretim siirecinde
yapitlari tizerinde belli bir dlgiide denetime
sahip olmalari 6nemlidir.

A) Retaining a degree of control over their work
in the production stage is considered vital by
designers.

B) According to designers, retaining some
degree of control over the production process
is reallyimportant.

C) For designers who produce certain works, itis
necessaryto retain a degree of control over
their work.

D) ltisimportantfor some designers to retain a
degree of control over their work inthe
production process.

E) Some designersbelieve that retaining control
over theirwork in the production process is
vital.




YOKDIL FEN BiLIMLERI iLKBAHAR 2018 SORULARI

54 - 59. sorularda, pargada anlam bitunliigini
saglamak ic¢in bos birakilan yerlere
getirilebilecek climleyi bulunuz.

54.There are many ways to define ‘time’ at a
particular location. Here, on Earth, our usual
system is defined by the motion of the Sun in
the sky. This means that the local time
depends on whereyou are on Earth and we
get around this complication by having many
different time zones. Now, we could also
define a similar time system based on the
motion of the Sun as seen from the Moon.
Such a system exists but it is not much more
than an interesting exercisein physics. ----.
This is called Universal Time, and it is a
modern form of Greenwich Mean Time. It is
the same everywhere in the Universe.

A) Whatis more useful, however, is a definition
of time that does notvary with location

B) It is difficult to keep track of time at work due
to the workload

C) There have been several unsuccessful
attempts to define a brand-new computing
system

D) So, the time on the Moon can never be the
same as thetime on Earth

E) Therefore, it will never be possible to
calculate exactly what time it is on the Moon

55.High-altitude landscapes are some of the

most inhospitable places on Earth. They are
cold, dry, and oxygen-poor, which causes
sleeplessness, fatigue, coughing, confusion,
and arapid pulse. They werethe last places
humans settled, yet people did it and
survived. ----. rom the Himalayas to the
Andes to the Ethiopian Plateau, people have
evolved in ways that allow them to live at high
altitude.

A) The Himalayas and the Andes attract many
climbers looking for adventure

B) This was all aboutour failure to cope with
such an extreme phenomenon

C) Living at such heights causes hypoxia, a
conditionwhere tissues cannotgetenough

oxygen
D) It is easierto find well-protected remains of

ancientempires than ever before due to
technology

E) The onlylogical explanation for this is our
abilityto adapt, especiallyto extreme
environments

14
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56.Ceres, an unassuming-looking object made of

ice and rock, lies between Mars and Jupiter in
the expanse of the Asteroid Belt. It was first
spotted by Sicilian astronomer Giuseppe
Piazzi on 1 January 1801. This 965-kilometre
diameter ball could just have been considered
a dead, greyrock in space. -——-. It has been
discovered that it was — and possibly still is —
an active world that may have had
cryovolcanoes of the kind that has pretty
much disappeared from Earth.

A) There are also some other mountains on
Ceres such as Liberaliaand Yamor

B) Justone solitarypeak made of ice, mud and
salts, called Ahuna Mons

C) Butas NASA's Dawn spacecrafthas recently
uncovered, Ceres has been hiding a strange
secret

D) These planets are notthe only bodies
discoveredin our Solarsystem

E) Thatis, if it erupts icy materials like waterice,
or methane instead oflava

57.As honeybees develop, they undergo

metamorphosis. ----. At the right moment, the
protective wax caps put in place by worker
bees areremoved, revealing the pupae just
days before they areready to emerge as fully
grown adults. Bees in this stage are pale, as
their outer shells are not yet hardened. When
they emerge as adults, their shells can still
take a few hours to fully harden. This means
that very young bees are more or less unable
to sting.

A) The shell ofa newbornbeeis notas hard as it
is supposedtobe

B) The queenbeeis notinvolved inthe process
of wax cell production

C) ltisagreatideato mark honeybees if you
want to follow them

D) Their lifecycle consists of four stages: egg,
larva, pupa, and adult

E) Young bees,compared to fully grown adults,
are less dangerousto us
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58.Late in the twentieth century, evidence of

global warming mounted as ice sheetsin the
Arctic and Antarctic began melting rapidly.
Carbon dioxide levels climbed, and the
protective ozone layer shrank. Although Earth
had experienced cycles of abnormal warmth
and cold even before humans appeared, most
scientists and some political leaders feared
that human activity was seriously disrupting
the world’s climate. They urged energy
conservation and alternatives to carbon-rich
oil and coal, such as solar and wind power,
hydrogen, and synthetic fuels. ----.

A) Like many developed countries, the United
States, proportionallythe world’s largest
energy user, supports cost-efficientprojects

B) As aresult,140 nations approved an
environmental agreementin 2005, known as
the Kyoto Protocols,in order to limit
destructive emissions

C) It has beenlong known that electric utilities
using fossil fuels produce greater air pollution
than nuclear power plants

D) When the cold war was over, many nations
started scientific space exploration to discover
habitable planets

E) However, one of the major challengesfacing
developing countries todayis to find sufficient
oil resources

59.There are objects that are classified neither as

stars nor as planets, called ‘brown dwarfs’.
----. Brown dwarfs accumulate matter in the
sameway as stars, but fail to attain enough
mass to ignite hydrogen fusion. Stars can
fuse hydrogen into helium, which can only
occur above a certain temperature and
pressure. Thus, objects above this threshold
are stars. Brown dwarfs initially produce heat
by fusing an isotope of hydrogen called
deuterium into helium-3, which occurs at
lower temperatures and lower masses.

A) NASA is looking for more information about
the planets’ atmosphere

B) Thus, more precise measurements will no
longerbe needed

C) Such information will also explain the
processesthatshaped the young Milky Way

D) Researchersoriginallythoughtthat the
system had three planets

E) This term was first coined by Jill Tarter of the
SETI Institute
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60 - 65. sorularda, ciimleler sirasiyla
okundugunda parganin anlam butiinligunt
bozan ciuimleyi bulunuz.

60.

61.

(I) Such an assumption has notyet beentested
rigorouslyfor mostanimal species. (Il)
Vertebrates are often marked to facilitate the

identification offree-ranging individual animals or

groups for studies of behaviour, population
biology, and physiology. (lll) Marked animals
provide datafor home range use,resource
selection, social behaviour, and population
estimation. (IV) Markers can be classifiedinto
three general categories: mutilations, tags and
bands, andradio transmitters. (V) The
appropriate marking technique for a study
depends on several considerations, including
study objectives, target species, marker cost,
marker efficacy, and marker effects on the
animals.

A

B) II
C) i
D) IV
E) V

(I) An environmentalist, on the other hand, is
someone who activelyworks to preserve the
environmentfrom destruction or pollution. (I1)
Environmentincludes everything that affects an
organism during its lifetime. (lll) In turn, all
organisms, including people, affect many
components intheirenvironment. (IV) From a
human pointof view, environmental issues
involve concerns aboutscience, nature, health,
employment, profit, law, politics, ethics, fine arts,
and economics. (V) Therefore, environmental
science is byits nature a multidisciplinaryfield.

A

B) II
c) i
D) IV
E) V

62.

63.

(I) An alternative career opportunity for engineers
has been offered by Frederick Taylor. (ll) He has
proposed thatengineers should take over the role
of managers in the governance of companies and
that of politicians in the governance of society.
(lN) This proposal would lead to the
establishmentofa technocracy, that is,
governmentby experts. (IV) The role of
engineers would, thus, be that of technocrats
who, onthe basis oftechnological insight,do
what they consider bestfora companyor for
society. (V) For instance, being an engineer
requires greatresponsibilityfor a number of
reasons.

A

B) II
C) i
D) IV
E) V

() Our food and materials cometo us via a
system that spans the world and whose
consequences are mostlyconcealed from us. (Il)
On average, food is said to travel more than
1,300 miles from where itwas grown or produced
to whereit is eaten. (Ill) In such a system,there
is no conceivable way of knowing the human or
ecological consequences of eating. (IV) The
average citizen of the United States now uses
some 186,000 calories ofenergy each day. (V)
Nor can we know the full costof virtually food that
we purchase ordiscard.

A

B) II
C) i
D) IV
E) V
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64.(I) ENIAC, the first electronic computer, was

completedin 1945 at the University of
Pennsylvania under a militarycontract. (Il)

EngineerJ. Presper Eckert and physicistJohn W.

Mauchly's enormous device was powered by
18,000 vacuum tubes and performed 5,000
calculations persecond. (lll) While computers
allegedlyreduce paper documents, new copying
and printing technologies onlyincrease the flood.
(IV) Hungarian refugee John von Neumann soon
after developed what became the basic
architecture of computer systems. (V) The
invention of transistors bylab scientists atBell
Laboratories in 1948 eventuallyeliminated
clumsyvacuum tubes and paved the way for
microchips.

A

B) II
C) i
D) IV
E) V

65. (1) Dinosaurs were ‘born’ officiallyin 1842. (1)

They were all land-living animals, which poses
particular problems. (Illl) They owe their birth to
the work of the British anatomistRichard Owen,
whose work had concentrated upon the unique
nature of some extinctfossil reptiles. (IV) At the
time of Owen’s review, he was workingon a
surprisinglylarge collection of fossil bones and
teeth that had been discovered up to that time
and were scattered around the British Isles. (V)
Although the birth of dinosaurs was relatively
inauspicious, they were soon to become the
centre of worldwide attention.

A

B) II
C) i
D) IV
E) V
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66 - 68. sorulari asagida verilen pargaya gore

cevaplayiniz.

Farmers are under pressure to reduce chemical
pesticides and their abilityto do so will be aided by
the news that the U.S. Departmentof Agriculture is
aboutto starttrialling a device that can kill insects
with a laser. Developed by an American company,
the ‘Photonic Fence’is notreally a fence atall, buta
small boxcontaining lasers, cameras and an Artificial
Intelligence (Al) computer system. The cameras scan
the air around the device for 100 metres, and the Al
system measuresthe shape, speed and acceleration
frequency of any bugs detected to establish which
are potentiallyharmful. Any insects identified as a
threat can then be zapped by the lasers, with a ‘kill
rate’ of up to 20 insects persecond. By deploying
several such devices, farmers could effectively
create a virtual fence around their crops that kills
harmful pests butleaves bees and other beneficial or
harmlessinsects untouched. The U.S. trials will
begin soon. If the device is proven to work, then the
companyhopes to bring a commercial productto
market, though that will still be some years away.

66. We understand from the text that the
‘Photonic Fence’ ----.

A) has notbeenmass produced yet
B) removes alltypes of insects on farms

C) may not be effective since itonly kills afew
insects

D) is a box which looks like areal fence

E) will certainly be a waste of moneydue to its
high cost

67.1t is clear from the textthat farmers ----.

A) are againstthe use of the Photonic Fence in
farming

B) are notallowedto use any chemical
pesticides infarming

C) will continue using pesticide as itis cheaper

D) are expected to decrease the amounts of
chemical pesticides theyuse

E) will not be able to afford the Photonic Fence
atthe moment

68.The textis mainly about ----.

A) a new device which aims to destroy harmful
insects via lasertechnology

B) the reasons whymostAmerican farmers hawe
recently stopped using pesticides

C) how a companydevised the ‘Photonic Fence’
to save harmful pests

D) the technical challenges ofdesigning the
‘Photonic Fence’ experienced by scientists

E) methods ofdistinguishing harmful pests from
beneficial ones infarming

19



YOKDIL FEN BiLIMLERI iLKBAHAR 2018 SORULARI

69 - 71. sorulari agagida verilen pargaya gore
cevaplayiniz.

Wernhervon Braunis famous for being the creator of
the space program thatmade it possible to putthe
first person onthe moon on July 20, 1969. He grew
up in Germany. From an early age he was fascinated
by rocket technologyand was involved in developing
rockets for the German armyin the 1930s.In 1937,
he joined Hitler's National Socialist Party, about
which he later stated: “My refusal to join the party
would have meantthat | would have had to abandon
the work of my life. Therefore, | decided to join”.In
1943, it was claimed thathe sabotaged the V2 rocket
program,and was arrested by the Nazs. Later,
however, he was released. In 1945, he realized that
the Germans were going to lose the war, and
arranged for his team to be handed over to the
Americans.In the U.S., Von Braun originallyworked
on the developmentofrockets for militarypurposes.
His dream came true by playing a key role in the
space travel program.Von Braun’s big dream did
therefore ultimatelycome true.

69.According to the text, Von Braun joined
Hitler’s party ----.

A) to be able to get enough information aboutthe
rocket programs of other nations

B) in orderto continue his careerin rocket
technology

C) because his refusal would lead to his family's
arrest

D) since he was the only person with profound
knowledge ofthe moon

E) to getpermission from Hitlerto work for both
Germany andthe U.S.

70.1t is understood from the textthat Von Braun

A) hadno interestin science when he was a little
child

B) joined Hitler's partyto improve his military
skills

C) spentmostofhis childhoodin America

D) sabotaged the V2 rocket program to help the
U.S. inthe war

E) decided to workfor the Americans together
with his team

71.The textis mainly about ----.

A) scientists who played an active role in military
operations

B) the role of science and scientists in the
Second World War

C) the determination of Von Braun to fulfil his life-
long dream

D) Von Braun’s teenage enthusiasm for rocket
design

E) howthe U.S. became victorious inthe Second
World War
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72 - 74. sorulari agagida verilen parcaya gére
cevaplayiniz.

‘Heritability’ is a measure ofthe relative importance
of genes in determining variation in qualitative traits
among individuals. However, the calculated
heritabilityvalue is unique to the population in which
itwas measured and to the environmentof that
population. The specificityof heritabilitymeans that
we should be very cautious when using heritabilityto
measure the general importance ofgenes to the
developmentofa trait. A famous misapplication of
heritabilitycomes from the book The Bell Curve, by
Charles Herrnstein and Richard Murray, published in
1994. In this book, the authors report that IQ scores
differ among subpopulationsin the United States.
Among white Americans, IQ averages are around
100 while among African-American populations, IQ
averages are nearly 15 points lower. Using a
conservative estimate ofthe heritability of
intelligence, they argued that the 1Q differences
between whites and blacks are primarilydueto a
geneticdifference in intelligence between these
groups.However, on closerlook, we can see that
Herrnstein and Murray's conclusionis flawed. These
differences could be entirely due to environment.
Given the historyand currentsocial and economic
status of African-Americans in the United States, itis
certainly possible thattheir environmentis less
enriched than the average environmentexperienced
by a white individual.

72.According to the text, Herrnstein and
Murray’s research ----.

A) isflawless interms of methods applied
B) isthe bestwork onIQ up to date

C) is questionable due to a mistake in application
of heritability

D) was published in the first half of the twentieth
century

E) deals with environmental problems

73.1t can be clearly understood from the text that

A) environmentis the only variable affecting the
intelligence level

B) there is no simple causal relationship between
IQ andrace

C) the heritabilityvalue of 1Q is constantfor all
populations and cultures

D) white Americans scored lower than African-
Americans inthe IQ test

E) Herrnstein and Murray have rejected using IQ
scores intheirresearch

74.The textis mainly about ----.
A) the highliving standards of African-Americans

B) the different editions ofa bookon IQ scores
titted The Bell Curve

C) IQ levels of African-Americans living in the
United States

D) a comparative study of IQ scores between
two groups in Africa

E) a well-known misapplication of heritabilityin
IQ testing
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75 - 77. sorulari asagida verilen pargaya gore

cevaplayiniz.

In addition to temperature, other factors such as the
availability of water, prevalence of high winds, and
the duration and intensityof sunlightalso limitthe
geographical areas in which various crops can be
grown. However, as far as getting the bestcrop is
concerned, even when fruit trees have bloomed
satisfactorily,temperature can be a determinant of
whether a good crop will be harvested. Most
deciduous fruits need pollination, which is normally
done by honeybees. If the temperature is notright,
the bees justquitflying, and that can mean a very
poor crop indeed. Even if the bees fly and pollenis
spread, the pollen mustgerminate and the pollen
tube grow down to the owule, a process thatcan be
severelyrestricted by unseasonablylow
temperatures. And even when pollination has been
successful, the growth of individual grape berries
(botanically, grapes are berries) can be restricted by
both too high and too low temperatures.

75.1t is clear from the textthat ----.

A) the success ofthe pollination process
depends solelyon the quality of the plant

B) inadequate sunlightcan be disregarded when
trees have bloomed satisfactorily

C) crops may not fully develop unless
temperatures are suitable

D) the developmentofdeciduous fruits is
induced by pollination withoutbees

E) newdrug tests mustbe conducted on certain
plants

76.Which of the following is NOT mentioned in
the text as a factor that affects crop growth?

A) Fluctuations intemperature

B) The taste of fruits

C) Existence of sufficientwater

D) Pollination agents like honeybees

E) Successful pollen germination

77.The textis mainly about ----.

A) the significantrole oftemperature in growing
good crops

B) the role of temperature on the post-harvest
process

C) adaptation of pollinationin other fields of
study

D) the difficulty in detecting honey bees

E) factors behindthe cropvariety in some
regions
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78 - 80. sorulari asagida verilen pargaya gore
cevaplayiniz.

Fusion energyalmostsoundstoo good to be true
because of zero greenhouse gas emissions, nolong-
lived radioactive waste, and nearly unlimited fuel
supply. Yet, fusion power designs are notcheap
enough to outperform systemsthatuse fossil fuels
such as coal and natural gas. However, University of
Washington engineers hope to change that. They
have designed a conceptfor a fusion reactor that,
when scaled up to the size of a large electrical power
plant, would rival costs fora new coal-fired plantwith
similar electrical output. The design buildson
existing technologyand creates a magneticfield
within a closed space to hold plasmain place long
enough for fusion to occur, allowing the hot plasma
to react and burn. The reactor itselfwould be largely
self-sustaining, meaning itwould continuouslyheat
the plasmato maintain thermonuclear conditions.
Heat generated from the reactor would heatup a
coolantthatis usedto spin a turbine and generate
electricity, similarto how a typical power plantworks.

78.1t is clear from the textthat ----.

A) engineers have succeeded in making current
energy systems more environmentallyfriendly

B) a fusionreactor can produce much more
power than presentplants

C) for the time being, the cost of fusion energy
designis too highto be used widely

D) the fusion power plantdesignis based
entirely on new technology

E) acheaperwayto produce energy from fossil
fuels is underway

79.1t is clear from the text that ----.

A) electricity productionin a fusion reactor is
more time-consuming than other power plants

B) coal-fired plants will produce less energyif
fusion plants are operational

C) the number ofcoal-fired power plants is
declining due to fusion reactors inuse

D) whenin use,the fusion power plantwill not
release anyharmful gases

E) fusionreactors and fossil-fuelled power plants
can both be turned into self-sustaining energy
sources

80.The text mainly deals with ----.

A) various cost-efficientmeans of producing
energy

B) existing fusion power plants and their benefits
C) research on future plants run by fossil fuels

D) the costof fusion power plants and coal-fired
plants

E) a prospective fusion reactor design with great
potential
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1 - 20. sorularda, ciimlede bos birakilan
yerlere uygun diisen sozciik ya da ifadeyi
bulunuz.

1. Though other factors contribute to the
decline of species, climate change is a main
threat becauseit occurs ---- rapidly for them -
--- successfully adapt.

A) as/as
B) rather/than
C) too/to
D) aswell/ as

E) so/that

. Today, the Internet ---- access to public and
private biological databases that ---- the work
of thousands of biotech researchers around
the world.

A) will provide / were supporting
B) provided/ would support

C) would provide / supported

D) provides/support

E) had provided / have supported

. The digitalisation of cultural heritage is one
of the main ---- facing European museums
and other cultural institutions.

A) temperatures
B) challenges
C) invitations

D) elections

E) anniversaries

26

4.

It is difficult for scientists to measurethe
mass balance of ice sheets manually; ----,
satellite images of the ice sheets can track
their growth and recession over the years.

A) however
B) forinstance
C) otherwise
D) likewise

E) moreover

In 1990, the discovery that the universe is
still expanding was unexpected ---- it was
thought that its expansion had come to an
end long ago.

A) provided
B) though
C) sothat
D) besides

E) since

. Toxic substances are chemicals that cause

damage ---- living organisms as aresult ----
immediate or long-term exposure.

A) of/ for
B) to/ of
C) on/with
D) in/at
E) at/in



7.

In the past few years, there have been great
advances in the field of machine learning, ----
in Artificial Intelligence.

A) accidentally
B) carefully
C) hardly

D) especially

E) politely

People are concerned about nuclear waste
because of its long-term effects, but much ---
-wastein the form of plastic also lasts for
quite along time.

A) communicative
B) healthy

C) domestic

D) temporary

E) strange

---- science fiction shows and movies like
Star Trek and Star Wars make spacetravel
look very easy, the reality is quite different.

A) Although
B) Because
C) When
D) Unless

E) Since

27

10.

11.

12.

13.

A new theory claims that the cosmos is full
of unseen particle families ---- do not interact
with each other.

A) whose
B) in which
C) where
D) when
E) that

Habitat ---- a broad term that we use to
describe the surroundings or conditions
where any given organism ----.

A) has been/lived

B) is/lives

C) hadbeen/ had lived
D) was/ has lived

E) willbe /would live

Thomas Young was born in 1773 and is
described as a ‘polymath’ because he
contributed to many scientific fields ---- his
extensive researchrelatedto colour vision.

A) incase

B) otherwise
C) in additionto
D) sothat

E) even though

Toothpicks, which are generally used after
eating, are highly effective for cleaning ----
teeth ---- gums.

A) neither/ or
B) such/that
C) more/than
D) but/ also
E) both/and



14. Air pollution often travels to areas that do

15.

16.

not produce significant amounts of pollution
themselves; ----, monitoring air pollution has
become a major problem for many
authorities.

A) justas

B) for example
C) however
D) therefore

E) in contrast

The La Braia-Arintero site ---- by chancein
2006 by Julio Manuel Vidal Encinas, an
archaeologist of the Council of Castilla'y
Leén.

A) has beendiscovered
B) was discovering
C) has discovered
D) was discovered

E) discovered

Ever since the hydrogen bomb ----, attempts
----to harness the power of nuclear fusion for
peaceful purposes.

A) isinvented / had been made

B) has beeninvented/ will be made
C) was invented/ have been made
D) willbe invented/ were made

E) hadbeeninvented / are made
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17.

18.

19.

20.

Different regions and economic sectors in
the world are currently ---- the impact of
climate change in various ways.

A) getting off

B) calling back
C) dealingwith
D) sending out

E) running by

Modern science ---- answers to many of our
fundamental questions about the universe
and our place within it.

A) offers

B) causes
C) consumes
D) happens

E) disappears

Bees pollinate crops, and ---- we want to
transfer pollen from flower to flower by hand,
we need to protect them.

A) when

B) unless
C) if

D) while

E) once

Experts from Montana University are
studying microorganisms which have been
living under the ice of Antarctica ---- the last
500,000 years.

A) since
B) after
C) before
D) for

E) once



21 - 25. sorularda, agagidaki pargada 23.
numaralanmis yerlere uygun diisen s6zciik

A) For example
ya da ifadeyi bulunuz.

B) In contrast

C) Nevertheless
Teamwork usuallyoccurs in speciesthatlive in

family groups and (21) ---- each other as a D) Moreover

consequence of genetic relatedness. Working E) However
together (22) ---- many benefits to an individual,
when hunting both small and large prey. (23) ----,
lions work togetherto bring down larger prey. As for
marine animals like dolphins, they may coordinate
(24) ---- movements to herd many prey into a small
area. Animals have developed these strategies in
orderto make prey easier (25) ---- catch.
24,
A) both
21.
B) much
A) hadassisted )
C) its
B) assist
D) that
C) are assisted )
E) their
D) were assisted
E) assisted
25.
22.
A) for
A) awvoids
B) to
B) becomes
C) on
C) ignores
)18 D) at
D) happens
E) of
E) provides
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26 - 30. sorularda, asagidaki pargada
numaralanmis yerlere uygun diisen s6zciik
ya da ifadeyi bulunuz.

Physics is an experimental science. Physicists
observe the phenomena of nature and try to find
patterns (26) ---- relate these phenomena. These
patterns are called physical theories or, (27) ----
they are very well established and widelyused,
physical laws or principles. Physicists have to ask
appropriate questions, carry out experiments to try
to answer the questions, and draw (28) ----
conclusions from the results. Physics is notsimply
a collection of facts; itis also the process bywhich
we arrive at general principles thatdescribe how
the physical universe behaves.No theory is
regarded as the final truth. It is in the nature of
physical theory that we can (29) ---- a theory by
finding behaviour that is inconsistent with it.

(30) ----, we can never prove beyond question that
a theory is undoubtedlycorrect.

26.

A) inwhich
B) when
C) where
D) which

E) what

27.

A) when
B) muchas
C) even if
D) until

E) unless

30

28.
A) external
B) sociable
C) appropriate
D) dreadful

E) informal

29.
A) exploit
B) require
C) disprove
D) remain

E) involve

30.
A) In other words
B) Such as
C) As though
D) In contrast

E) Otherwise



31 - 41. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

31.Biological activity in soil slows down or
stops ----.

A) when oil spills were experienced inthe ocean

B) because soilis regarded as staticand
inactive

C) after vegetation had started to regenerate
itselfin spring

D) sothe moon’s influence on the tide was
dramatic

E) if the soilbecomes too cold ortoo dry

32.Although the world produces enough food to
feed its population, ----.

A) nearly one billion people do not have enough
to eat

B) that eating geneticallymodified food is a
concern especiallyfor children

C) yet industrial agriculture helpsincrease the
global crop

D) socioeconomic methods should be applied to
stop this problem

E) poornutritionis no longerthe leading health
risk worldwide

33.Because Bennu, the asteroid, regularly
passes relatively near to Earth ----.

A) ithas not been studied thoroughlyyet

B) itis nearlyimpossible to analyse them

C) scientists cannotunderstand how they occur
D) astronomers can studyits orbit closely

E) they travel more than a million kilometres

31

34.While animals such as whales have larger
brains by weight,----.

A) ababywhale uses up much more energy
while growing up

B) the human brainis the largestrelative to the
size of its owner’s body

C) suchasmallbodymaybe a great advantage
to move while in danger

D) its brain consumesalarge amountofenergy
while sending information

E) a specialfeature of the human brainis its
need for energy

35.Even though bacteriahave a bad reputation
for causing disease, ----.

A) more bacteria have becomeresistantto
treatment

B) yet various antitoxins have beenusedto
treatinfections

C) in reality, very few species ofbacteriainfect
humans

D) bacterial disease can have several serious
outcomes

E) itis notusedto kill the harmful bacteriain
humans

36.Scientists have designed a nanocrystal 500
times smaller than a human hair ----.

A) because alasercouldbe usedinorderto
projecta holographicimage in modern
displays

B) sincethe old ones could perform much better

C) ifthey are used in anti-counterfeitdevices in
banknotes, and in some medical applications

D) thatturns darkness into visible lightand
could be usedto create night-vision glasses

E) in casetheyinvolve the study of behaviour of
lightand interaction of objects with light



37.

38.

39.

----, most aerospace companies devote their
resources to improving existing products.

A) Although the developmentofa new flight
vehicle mighttake a decade or more

B) Since they designwings or body surfaces to
make the craft faster

C) After engineers subjecta new model ofthe
aircraft to tests in a wind tunnel

D) Because the costof developing new flight
vehicles is so high

E) Even before computer-aided design enabled
engineers to testdesigns

We will not be able to meet the climate
warming goals set by the Paris Agreement

A) aslongas emission-reducing technologies
spread globallyatincredible speeds

B) unless we speed upthe spread ofclean
technologyimmediately

C) since we have long supported scientific
advances in these fields

D) although global emissions ofthese gases
have recently gone up significantly

E) because the institutions have already
improved their experimental techniques

----as well as anincreasein blood pressure,
respiration and heart rate.

A) Neuroscience had alreadybecome the
fastestgrowing discipline

B) The rush of adrenaline causesasudden
release ofglucose

C) One of the basicrequirements is certain
coded information

D) A new system fordiagnosingincreasein
blood pressure has been designed

E) Informationis senteffectively around the
nervous system

32

40. ----; for instance, they constructed bridges to

make travelling easier.

A) The cities of the Romans had large
populations and impressive public houses

B) Historians estimate thatninety per cent of the
population lived in the country

C) Ancient Rome was situated on seven hills
and its monumental public buildings

D) The Romans displayed remarkable skill in
building and engineering

E) AncientRomeruleda vastempirewitha
small civil service

41.---- as they will be able to store energy from

wind and solar power.

A) Future electrodes will notbe very useful and
efficient

B) The fasterrecharging lithium battery has
disappeared

C) New generations oflithium batteries will be
very popular

D) Storing electrical energy quickly has not
been achieved

E) It was recently discovered by a group of
students



42 - 47. sorularda, verilen Ingilizce ciimleye
anlamca en yakin Tiirkge ciimleyi bulunuz.

42.The realreason cats avoid water is that their
fur becomes soaked and loses its protecting
property.

A) Kedilerin sudan kaginmasinin asil nedeni
kurklerinin islanmasi ve koruyucu 6zelligini
yitirmesidir.

B) Kurklerinin koruyucu 6zelliginitamamen
bozduguigin kediler sudan kaginirlar.

C) Kedilersudan kaginirlar; ¢linkii su,
kirklerinin koruyucu 6zelligini tamamen
bozar.

D) Kedilerin sudan kaginmasinin nedenlerinden
biri de kirklerinin koruyucu 6zelligini
yitirmesidir.

E) Kurklerinin islanmasive koruyucu 6zelligini

yitirmesi kedilerin sudan korkmasinin sebebi
olabilir.

43.Because they are more elastic than metals
like steel, the use of composite materialsin
train construction is still a debated issue in
terms of safety.

A) Celik gibi metallerden daha esnek
olmadiklariigin, kompozitmalzemelerin tren
yapiminda kullanimi, glivenlik agisindan
tartismaya acgik bir konudur.

B) Kompozitmalzemelerin tren yapiminda
kullaniminin en dnemli sebeplerinden biri,
celik gibimetallerden daha esnek olmasidir.

C) Celik gibi metalleresnekolduklariigin,
kompozitmalzemelerin tren yapiminda
kullanimiuzun zamandir tartis iImaktadir.

D) Kompozitmalzemeler, ¢elik gibi metallerden
dahaesnekolsalarda,tren yapiminda
kullanimi, giivenlik agisindan sakincalidir.

E) Celik gibi metallerden daha esnekolduklari
icin, kompozitmalzemelerin tren yapiminda
kullanimi, glvenlik agisindan hala tartigilan
bir konudur.
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44.

45.

A growing body of scientific studies
indicates that following the Mediterranean
diet can help slow memory loss.

A) Hafiza kaybini 6nlemeye yardimci oldugu
icin Akdeniz diyetini uygulamanin gerekliligi
bilimsel caligmalarda ortaya konmustur.

B) Artan sayida bilimsel caligma Akdeniz
diyetini uygulamanin hafiza kaybini
yavaslatmaya yardimci olabildigini
gostermektedir.

C) Bilim insanlaritarafindan yapilan galismalar
Akdeniz diyetini uygulayan bireylerde hafiza
kaybinin yasanmadiginigéstermektedir.

D) Cok sayida calisma, yaslilikta Akdeniz
diyetini uygulamanin olas1hafiza kaybini
yavaslattigini géstermektedir.

E) Artan sayida galismadaisaretedildigi gibi
Akdeniz diyetini uygulamak hafiza kaybini
blyik dlgude yavaslatmaktadir.

Fossilized 21-million-year-old monkey teeth
found on the Panama Canal are the most
significant evidence of the presence of
mammals in North America.

A) PanamaKanali’'ndabulunan 21 milyon
yasindaki fosillesmis maymun disleri, Kuzey
Amerika’daki memeli varliginin en 6nemli
kanitidir.

B) PanamaKanalrndailk kezbulunan 21
milyon yasindaki fosillesmis maymun digleri,
Kuzey Amerika’'daki memelivarliginin 6nemli
bir kanitidir.

C) 21 milyon yasindakifosillesmis maymun
digleri, Kuzey Amerika’dayasamis olan ilkel
tirler hakkinda 6nemliipuglari vermektedir.

D) Panama Kanalicivarinda bulunan 21 milyon
yasindaki maymun disleri,ilk memelilerin
Kuzey Amerika’'da yasadiklarinin nemli bir
isaretidir.

E) Kuzey Amerika’dakiPanama Kanalr'nda
sans eseribulunan 21 milyon yasindaki
maymun disleri,ilkmemelivarligininen
onemlikanitikabul edilir.



46.The United Nations defines biotechnology as
any technological application that uses
biological systems to make or modify
products.

A

B)

C)

D)

E)

Biyoteknoloji, ¢esitli Griinleri yapmakigin
biyolojik sistemleri kullanan her tirla
teknolojik uygulama olarak karsimiza
¢ikmaktadir.

Birlesmis Milletlere gore, biyolojik sistem
teknolojisi, birgok Grtinii yapmak ve
degistirmekicin gelistirilen dnemli bir
teknolojik uygulamadir.

Birlesmig Milletler, biyoteknolojiyi, birtakim
biyolojik Grtinleri yapmak igin kullanilan
teknolojik bir uygulama olarak
tanimlamaktadir.

Biyoteknoloji, Urlinleri yapmak ve degistimek
icin Birlesmis Milletler tarafindan da kullanan
teknolojik bir uygulama olarak
siniflandirilabilir.

Birlesmigs Milletler, biyoteknolojiyi, Grtinleri
yapmakya da degistirmekicin biyolojik
sistemleri kullanan her turlt teknolojik
uygulama olarak tanimlamaktadir.
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47.0ne of the effects of deforestation, which
acceleratedin the late 20th century, is the
disappearance of many plant and animal
species.

A

B)

C)

D)

E)

20. yuzyilin sonlarinda ortaya ¢gikan orman
kaybinin etkilerinin basinda baz bitki ve
hayvan turlerinin yok olmasigelir.

Birgok bitki ve hayvan tiriinlin ortadan
kaybolmasi, 20.ylizylda meydanagelen
orman kaybinin agik sonucudur.

20. yizyihin sonlarindaki orman kaybi, bitki
ve hayvan turlerinin ortadan kaybolmasinin
baslica nedenidir.

20. yuzyilda hizZlanan orman kaybinin énemli
etkilerinden biri, bitki ve hayvan sayisinin
6nemlidlglide azalmasidir.

20. yizyihn sonlarinda hizianan orman
kaybinin etkilerinden biri, bircok bitki ve
hayvan tiranin yok olmasidir.



48 - 53. sorularda, verilen Tiirkge ciimleye
anlamca en yakin ingilizce ciimleyi bulunuz.

48.Modern bilimin kokleri Avrupa’da 1500-1750
yillari arasinda gergeklesen hizh bilimsel
gelismelerde yatar.

A

B)

C)

D)

E)

Modern science emerged thanks to rapid
scientific developments thatoccurredin
Europe between roughly 1500 and 1750.

The principles of modern science can be
traced backto a period between 1500 and
1750 which withessed significant
developments.

A period of scientific developmentthat
occurred in Europe between 1500 and 1750
is considered to be the origins ofmodern
science.

The origins of modern science lie in rapid
scientific developments thatoccurred in
Europe between 1500 and 1750.

Modern science was born out of significant
scientificdevelopments thattook placein
Europe between roughly 1500 and 1750.
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49.Miihendislerden sadece iglerini yetkin bir
sekilde yerine getirmeleridegil, ayni
zamanda miihendisligin ahlaki ve toplumsal
etkilerinin de farkinda olmalari
beklenmektedir.

A

B)

©)

D)

E)

Engineers should notonlyperform their work
competently, but consideralmostall ethical
and social aspects oftheir profession as well.

Engineers are expected to perform their work
competentlyso that social issues of
engineering can be handled appropriately.

Engineers’ primaryduty is that they should
be competentand aware of the ethical and
social effects of engineering.

Engineers are supposed to perform their
work competentlyand to know the ethical
and social effects of their decisions.

Engineers are expected not only to perform
their work competentlybut also to be aware
of the ethical and social effects of
engineering.



50.Kizil sincaplar, sonbaharda hatirlamasi kolay
yerlere gomdiikleri yiyecek depolarina
guivendikleri igin kig uykusuna yatmazlar.

51.

A)

B)

C)

D)

E)

As they rely on the caches offood they
buried in easy-to-remember sites in autumn,
red squirrels do nothibernate.

Relying on the food they buried in specific
sites inautumn maycause red squirrels not
to hibernate.

Because red squirrelsdo nothibernate, they
usuallybury the caches of food in easy-to-
remember sites.

Red squirrels burythe caches of food in an
easy-to-remember site in autumn in order not
to hibernate.

Red squirrels cannothibernate; as aresult,
they have to bury their food in easy-to-
remembersitesinautumn.

Gerekli tiirbinlerin kurulum maliyeti, riizgar
guiciiniin yaygin kullaniminin éniinde her
zaman bir engel olmustur.

A

B)

C)

D)

E)

Despite the installation costofnecessary
turbines being inexpensive, wind power has
never become widespread.

The installation costofnecessaryturbines
has always been an obstacle to the
widespread use ofwind power.

Wind power has always been considered too
expensive due to the installation cost of
necessaryturbines.

The highinstallation costofnecessary
turbines for wind power has hardly stopped
us from using it widely.

The widespread use ofwind power has
slowed down because ofthe highinstallation
costof necessaryturbines.
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52.Evlerde komiir kullanimi da azaltiimadikga,
Cin’in enerji santrallerinden karbon
salinimini azaltma planlari ¢ok etkili
olmayabilir.

A) China’s planstoreduce emissions from
power plants will notbe effective as long as
the household use of coal is encouraged.

B) China’s planstoreduce emissions from
power plants maynot be effective if the use

of health-damaging coal is also reduced.

C) If household use ofcoalis also reduced,
China’s plansto reduce emissions from

power plants will have significanteffects.

D) China’s planstoreduce harmful emissions
from power plants will not be very effective if

people keep using coal for heating.

E) As longas the household use ofcoaliis not
alsoreduced, China’s plans to reduce carbon
emission from power plants maynot be very
effective.

53.2017 yihnda yayimlanan bir rapora gore,
Avrupa’daki kirlenmis toprak miktarinin 2025
yilina kadar %50 artmasibeklenmektedir.

A) Areportof 2017 suggested thatthe total
amountof polluted soil in Europe is
estimated to increase bynearly 50% in 2025.

B) According to a number ofreports issuedin
2017,the amountof polluted soil is
consideredtoincrease nearlyby 50% in

2025.

C) According to a reportissuedin2017,the
amountof polluted soil in Europe is expected

to increase by 50% by 2025.

D) In 2017, certain reports stated that the
surface area of polluted soil in Europe will

have increased by upto 50% by 2025.

E) Areportissuedin2017 stated thatthe
surface area of polluted soil in Europe will
probablyincrease by 50% by 2025.



54 - 59. sorularda, par¢ada anlam
biitiinliigiinii saglamak igin bos birakilan
yerlere getirilebilecek ciimleyi bulunuz.

54.Soyuz is the oldest spacecraftstill in
operation. ----. Since then, this spacecraft
has carried more people to orbit and back
than any other spacecraft. While not immune
to its own set of disasters and setbacks,
Soyuz is nevertheless the safestand most
cost-effective spacecraft ever built. As of
2018, it is the only way to get warm bodies
up to the International Space Station and
back and is used by both the Russians and
the Americans.

A) A parachute failure caused the module to
crash

B) It mightbe used as an emergencyferry at all
times

C) Some astronauts complain thatit has
become old-fashioned

D) It was builtby the Korolyov Design Bureauin
the 1960s

E) Americans plantoland on Mars before 2020
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55.Concorde, the fastest passenger aircraft of

its time, cruised at speeds of over 2,180
kilometres per hour —twice the speed of
sound. At half that speed, it would break the
sound barrier, generating an enormous
double sonic boom that could be heard for
miles. This incredibly loud noise led to a
worldwide ban on continental supersonic
flights. ----. To achieve this, it has announced
plans to develop a ‘low boom’ aircraft, which
generates a soft thump as it breaks the
sound barrier, rather than a disruptive boom.

A) Scientists usedtoworkon a projectto stop
shockwaves generated bysupersonic
aircrafts

B) Shockwaves move away from the aircraftin
all directions and travel at the speed of
sound

C) In 2016, a group of engineers wanted to start
a new spacecraftproject, but they could not
afford it

D) Now, NASA hopes to bring back supersonic
passenger air travel by making flights
greener, saferand quieter

E) These factors contributed to the aircraft’'s
unexpected worldwide failure at the
beginning 0f 2000



56.

57.

58.

The oyster has a hard outer wall known as a
mantle, which covers and protects certain
organs. When an intruder such as a grain of
sand enters an oyster’s shell, it irritates the
oyster. Therefore, the oyster promptly covers
the foreign object with a mineral substance
called nacre. The oyster coats it with more
and more nacre until it forms a pearl. ----.
Pearl ‘farmers’ can harvest pearls by
triggering this response by inserting a grain
of sand into the shell.

A) Butoysters can produce pearls ina very
shortperiod of time

B) For example, producing pearls in this way
helps them to expand their life spans

C) Recently, biologists have found that oysters
produce nacre from their shells

D) So, the ecosystem where species like
oysters live is stillin danger of being polluted

E) The shinyspheres are thus actuallythe
productof animmune response

The field of electric poweris concerned with
the design and operation of systems for
generating, transmitting, and distributing
electric power. ----. One of these is the ability
to transmit power at extremely high voltages
in both the direct current and alternating
current modes, reducing power losses.
Another is the real-time digital control of
power generation, transmission, and
distribution, thereby optimizing the efficiency
of the system while it is in operation.

A) Electronics and electric power have chosen
different paths as they have developed

B) Throughouthistory, man-made objects have
played animportantpartin civilizations

C) Engineers working in this field have made
several developments since the 1970s

D) The principle ofelectromagneticinduction
was discovered by Michael Faradayin 1831

E) Informationis now generated, transmitted,
received, and stored electronically

Sound is stored in one of two basic ways,
called formats. The first format stores sound
in a form that resembles the original sound

wave and is known as analogue recording. ----.

The second formatis digital recording which
represents a sound wave as a series of
numbers. Computer drives use the position
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59.

of magnetic particles to define these
numbers. A number of digital formats exist,
and they determine the quality of the
recorded sound and the number of channels
of sound playback.

A) The term ‘format’is also used to describe the
number of channels, or streams ofsound

B) This formatis called analogue because the
form of the sound wave in the recording is
analogous to the original waveform

Two of the mostcommon formats are
monaural,ormono, and stereophonic, or
stereo

C)

D) When they are played, the sounds from
these two separate channels combine in the
air

E) They were really popularinthe 1970s,
mainlybecause they were easyto access
then

----. Scientists have discovered ways in
which these signals can be picked up by
sensors and sent wirelessly to other
electrical devices, making it possible for a
person to move or alter objects by thought
alone. Most researchin this field is directed
toward developing devices to help people
with nervous-system injuries regain the use
of paralyzed limbs. The technology has also
been picked up by some computer-game
manufacturers,who have produced games
that can be played using thought power.

A) As biotechnologyadvances, it generates
ethical and social issues as well

B) To manyscientists,itseems hard to develop
systems thatare as flexible as the human
brain

C) Software can now compete on even terms
with the bestchess players

D) When a personis thinking, the brain
produces electrical signals

E) However, computergame manufacturers use
these advances



60 - 65. sorularda, ciimleler sirasiyla
okundugunda parganin anlam bitiinligiinii
bozan ciimleyi bulunuz.

60. (I) The literal meaning of carnivorous is ‘meat

61.

eating’. (I) When this definitionis applied to
plants, it evokes visions of snarling green jaws
snapping atnearbyanimal life. (lll) Although the
visionis vivid, itis notin keeping with reality. (IV)
Most plants are cunning in their means of
entrapping animal preyand have evolved
sophisticated means ofdigestingit. (V) Common
names used for plants can be confusing
because the same plantmaybe called by
different names in differentgeographic areas.

A |
B) Il
c)
D) IV
E) V

(I) One of the mostimportanttypes of
acceleration is the acceleration caused by
gravity. (1) The history of the universe is
essentiallya story aboutthe interplay between
matter and energy. (lll) Interactions between
these two began in the Big Bang. (IV) They still
existtoday in everything from the microscopic
moving of atoms to huge collisions of galaxies.
(V) Understanding the universe, therefore,
depends on becoming familiar with how matter
responds to the flow of energy.

A

B) Il
c)
D) IV
E) V
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62.(I) Ancient people used various methods to

preserve food for a long time. (II) Making
cucumber pickles is along process with two
stages. (lll) First, the saltin the vinegar mix
takes the water out of the cucumbers. (1V)
Second, good lactobacilli bacteria alreadyliving
on the cucumbers convertsugars into lactic acid,
which preserves the produce and adds
spiciness. (V) A clean cloth or cheesecloth
secured with a rubber band vents gases from
fermentation and forms a barrierto mold and
harmful bacteria, and after a couple weeks in the
jar, the fermented pickles are ready.

A

B) Il
C) i
D) IV

E) V

63. () Most graphics systems provide a keyboard

and at leastone otherinput device. (Il) The most
common inputdevices are the mouse, the
joystick, and the data tablet. (lll) Each provides
positional information to the system, and each
usuallyis equipped with one or more buttons to
provide signalsto the processor. (IV) They are
often called pointing devices and they allow a
userto indicate a particular location on the
display. (V) They need to create new games for
game fans regularly.

A

B) Il
c)
D) IV
E) V



64.(l) The mostbasic motions of Earth are its daily

rotation and its yearly orbit around the Sun. (ll)
Our entire solar system is actuallyon a very long
journey within the Milky Way Galaxy. (lll) It
rotates once each day around its axis, whichis
the imaginaryline connecting the North Pole to
the South Pole. (IV) As viewed from above the
North Pole,the movementis counterclockwise.
(V) Although we do not feel any obvious effects
from Earth’s rotation, the speed ofit is
substantial.

A

B) Il
c)
D) IV
E) V
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65. (I) Most meditation is done sitting down in

special postures, such as the full or half lotus in
which both feet, or justone foot, rests onthe
opposite thigh. (Il) However, many people
meditate in simpler positions, using firm
cushions, orsitting on a low bench with their feet
tucked underneath. (Ill) In meditation there are
always two dangers; either becoming drowsy
and falling asleep, orbecoming agitated by
distracting thoughts or discomfort. (IV) There is
nothing magical aboutthese positions. (V) They
allhave the same aim;to provide a posture that
is both relaxed and alert.

A

B) Il
c)
D) IV

E) V



66 - 68. sorulari agagida verilen pargaya gore
cevaplayiniz.

Since its construction, atleast 1300 people have
killed themselves byjumping offthe Golden Gate
Bridge in San Francisco. In 1940, the Board of
Directors discussed an “anti-suicide screen” but
decided againstit.In 2008, they voted 14to 1 to
install a stainless steel netbutthis time serious
public disagreementled to a cancellationin
construction. While the proponents ofthe project
tended to disregard aesthetic considerations, those
againstthe barrier believed the bridge had always
been praised forits transparencyand any barrier
design would destroythe view. In addition,
opponents claimed a suicide barrierwould notbe
effective, since people who wanted to kill
themselves would simplygo somewhere else.
However, those favouring the project claimed most
suicidal people acton animpulse and, when
prevented from actually killing themselves, often
seekhelpinstead ofending their lives. When it
came to financial concerns, the barrier did not seem
worth the costs to the opponents, whereas the
proponents reacted by saying the value of human
life cannotbe expressed in monetaryterms.

66.1t is clear from the textthat ----.

A) state authorities agreed to install anti-suicide
netting but they could not afford it

B) there has beennoagreementon the best
way to address suicide attempts atthe
Golden Gate Bridge

C) the bridge is under construction now despite
some opponents

D) a greatnumberofpeople had been
prevented from committing suicide by2008

E) the authorities inspected some other bridges
with similar designs before reaching a verdict
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67. According to the text, some people were
against the installation of a barrier since ----.

A) the projectrequired structural change in the
bridge and broughtadditional cost

B) suicide from the bridge was neither possible
nor probable as the bridge was difficultto
climb

C) itwould prevent the public from noticing
people who were aboutto commitsuicide

D) people who were stopped when they were
aboutto end their lives would usuallyseek
psychological help

E) they believed people had free willand one
should notinterfere with people’s decisions
to end theirown lives

68. The textis mainly about ----.

A) contradictory viewpoints regarding the
Golden Gate Bridge suicide barrier

B) an inquiryinto the pros and cons of the
construction ofthe Golden Gate Bridge

C) cost-benefitandriskanalysis priorto the
construction ofa bridge in San Francisco

D) the costof redesigning bridges for publicuse
in the city of San Francisco

E) social and ethical issues thatarose during
construction ofthe Golden Gate Bridge



69 - 71. sorulari agsagida verilen pargaya gore
cevaplayiniz.

An increase intemperature ofa few degrees might
notsound sobad, but smallchangesin average
temperature can lead to much more dramatic
changes in climate patterns. These changes will
cause some regions to warm much more than the
average, while otherregions maycool. Polar
regions willwarm the most, causing polarice to
melt. This is clearly threatening to the species of
these regions, butit alsowarms the oceans
everywhere and changes their saltcontentas
melting ice pours fresh waterinto the sea. The fact
that the waters of the Gulf of Mexico are at their
warmestlevel in at leasta century may be
contributing to the greater strength of hurricanes
that have recently blown out of the Caribbean. More
generally, overall warming ofthe atmosphere will
increase evaporation from the oceans, leading to
numerous and intense storms; ironically, this means
that global warming could mean more severe winter
blizzards.

69.1t is clear from the textthat ----.

A) because ofthe change in temperature, most
areas willbecome desert-like

B) lowtemperatureis asign of disasters such
as hurricanes

C) some areas are warmer because ofthe
increaseinthe saltlevel in seas

D) even the slightestchanges intemperature
can affect climate patterns

E) afew degrees’increaseintemperatureis
better than a decrease
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70. It is stated in the text that the reason for the
change in the salt content of seas is that ----.

A) more freshwaterwill flow into the seas due to
melting polarice

B) the water in seas will evaporate, causing
storms and hurricanes

C) someregions like the Caribbean are likelyto
get much more rain

D) endangered speciesin polarregions will
become extinct

E) climate patterns across the world maycause
certain regions to get cooler

71.The textis mainly about ----.

A) to whatextent increases intemperature are
affecting marine life

B) howthe Gulf of Mexico is affected by an
increase intemperature

C) climate change and its influence on animals
in polarregions

D) howwe can help protect the environment

E) the consequences ofchangesin
temperatures across the world



72 - 74. sorulari agsagida verilen pargaya gore
cevaplayiniz.

Driving is a much more complexactivity than most
people think. It involves a wide range of skills and
actions. Some of them are easierto automate than
others. Maintaining speed on an openroad is
simple, whichis whystandard cruise control
systems have been doing it automaticallyfor a long
time. Besides lane-keeping systems, adaptive
cruise control systems thatkeep proper speed and
spacing behind other vehicles are also widely
available. However, it will be an enormous jump
from such systems to fully automated driving, which
is still something we can only have in science-fiction
films. The automotive industry and the media have
made amess ofthe terminologyused to talk about
automated driverless systems. The terms
‘autonomous’, ‘driverless’ and ‘self-driving’ confuse
more than they enlighten. To clear things up,
scientists have defined differentlevels of
automation. They arranged them on a ladder of
decreasing dependence on the driver.

72.According to the text, the technical terms
used by automotive manufacturers and the
press ----.

A) setan importantsafety target for automated
driving systems

B) cause confusion among the publicabout
automated driverless systems

C) sound futuristic, like having your own
personal electronic chauffeur

D) will bring automated valet-parking systems in
the nearfuture

E) are onlyrelated to autopilotin specific
scenarios, such as freewaytraffic jams
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73.We understand from the text that ----.

A) the terminologyused for self-driving cars is
widely agreed upon

B) few people thinkdriving is an easytask to
execute

C) there is stillalong way to go before we can
switch to fully automated cars

D) the production of smartcars will have to end
before long

E) the safety of modern carsystems is still
under debate

74.1t is clear from the textthat ----.

A) cruise control systems have been used for
many years

B) steering control willdepend more on drivers
soon

C) steering control mustbe affordable for the
general public

D) lane-keeping systems will disappearin the
future

E) governments encourage fullyautomated
driving projects



75 - 77. sorulari agsagida verilen pargaya gore
cevaplayiniz.

The ozone layer protects life on Earth, and without
ozone, the world as we know it would not exist.
Ozone is a key elementofthe atmosphere, the
blanketof gases surrounding our planetthat is
made up of discernable layers, which differin
temperature, density,and gas composition. The
lowestlevel, the troposphere, extends about11 km
up from Earth’s surface. This level is familiarto us: it
is the air we breathe and where our weather occurs.
The next level in the atmospheric blanket, the
stratosphere, rises to 50 km above Earth’s surface.
The stratosphere is much lessdense than the
troposphere butcontains a ‘layer’ of ozone —
abbreviated as O3 because it contains three oxygen
atoms —a region where mostofthe atmosphere’s
ozone is found.

75.1t is clear from the textthat ----.

A) the stratosphere has the leastozone
compared to the other layers

B) the stratosphereis much closerto the Earth
than the troposphere

C) the gases surrounding the Earth vary in
densityand content

D) the layers that make up the ozone layer have
not been fully observed

E) allthe layers inthe atmosphere have almost
the same features

76.According to the text, one of the reasons we
know the troposphere well is that it ----.

A) contains the mostvital ozone type

B) protects life on Earth better than the other
layers

C) extends about 50 km up from Earth’s surface
D) is much thicker than the other layers

E) contains the air we inhale and exhale

77.We can infer from the text that ----.

A) the ozone layer is a single body with no
discernible layers

B) the ozone layer makes the world habitable
for every living species

C) weatherphenomena occurin the highest
level of the atmosphere

D) the densityof the ozone layer changes
seasonally

E) there are two atmosphericlayers between
the Earth and the troposphere



78 - 80. sorulari agsagida verilen pargaya gore
cevaplayiniz.

Dreams have long been regarded as prophetic
communications which enable us to foretell the
future. There is absolutelyno scientific evidence for
this theory and considerable scientific evidence
againstit. It is certainly true that individuals who are
concerned abouta traumatic event, such as the
threat of the loss ofa loved one whois sick, will
dream aboutthat loved one more often. We know
from our experiments thatitis possible toinfluence
dream contentsimplyby having a subjectin mind
while going to sleep. Therefore, dreaming abouta
loved one at a time when that loved one’s life is
threatened is not surprising. Ifthe dreamerthen
calls and finds that the individual has died, itis
understandable for him or her to assume thatthe
dream was an early warning of that death. But this
is a mistake. Itis simplya coincidental
correspondence between a situation aboutwhich
one has legitimate and intense concern and the
occurrence of the event that one fears.

78.The textis mainly about ----.
A) the significance ofdreams in ancientcultures

B) why people frequentlydream of their loved
ones

C) the association between dreams and reality

D) how we can control our dreams to know
aboutthe future

E) a proven theory aboutdreaming and its
effects
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79.According to the text, ----.

A) the form and contentof ourdreams are
inseparable

B) science can help prove the prophetic quality
of dreaming

C) our dailyroutine has no significanteffect on
the content of dreams

D) concerns abouttraumatic events may
determine the contentof our dreams

E) modernscience has neverbeeninterested in
the content of dreams

80.Fom the text, we can clearly understand
that ----.

A) mostof ourdreams tell us that we will lose
one of ourloved ones soon

B) people who have never had sleep problems
can have lucid dreams

C) someincidents maymake people think
dreams are indicators ofa future event

D) mostpeople canremembertheirdreams
quite easily

E) there is a certain relation between mental
health and dreaming
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